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int limit = Bars - IndicatorCounted(); «—— (1)
for(inti = 0; i < limit; i++)
double Close_Sum = 0;
for(int j = i; j < i + Average_Period_S; j++)
{
Close_Sum += Close[j];
1
Close_S[i] = Close_Sum / Average_Period_S;
Close_S[i] = NormalizeDouble(Close_S[i],MarketInfo(Symbol(),MODE_DIGITS));
¥
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for(i = 0; i < limit; i++)

double Open_Sum = 0;

for(j = i; j < i + Average_Period_S; j++)

)
Open_Sum += Close[j+1];
}
Open_S[i] = Open_Sum / Average_Period_S; -
Open_S[i] = NormalizeDouble(Open_SJi],MarketInfo(Symbol(),MODE_DIGITS));
} —
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for(i = 0; i < limit; i++)
Close_Sum = 0;
for(j = i; j < i + Average_Period_M; j++)

Close_Sum += Close[j];

}

Close_M[i] = Close_Sum / Average_Period_M;
Close_M[i] = NormalizeDouble(Close_M[i],MarketInfo(Symbol(),MODE_DIGITS));
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for(i = 0; i < limit; i++)
{

Open_Sum = 0;

for(j = i; j < i+ Average_Period_M; j++)
{
Open_Sum += Close[j+1];

b

Open_M[i] = Open_Sum / Average_Period_M;
Open_M[i] = NormalizeDouble(Open_M[i],MarketInfo(Symbol(),MODE_DIGITS));
}
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for(i = 0; i < limit; i++)
{

Close_Sum = 0;
for(j = i; j < i + Average_Period_L; j++)

Close_Sum += Close[j];

}

Close_L[i] = Close_Sum / Average_Period_L;
Close_L[i] = NormalizeDouble(Close_L[i],MarketInfo(Symbol(),MODE_DIGITS));
¥

[/ EREEEDIBEDE
for(i = 0; i < limit; i++)
{
Open_Sum = 0;
for(j = i; j < i + Average_Period_L; j++)

Open_Sum += Close[j+1];

b

Open_L[i] = Open_Sum / Average_Period_L;
Open_L[i] = NormalizeDouble(Open_L[i],MarketInfo(Symbol(),MODE_DIGITS));

return(0);
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